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QUESTION 1

Three hardware devices need to communicate with the CPU simultaneously. Which of the following will each device
need to issue?

A. DMA request

B. CON request

C. Interrupt request (IRQ)
D. Input/output request (I/O)

Correct Answer: C

QUESTION 2

Raoul has received a file attachment from a known individual. He has no reason to expect files from this individual.
Which of the following is an effective security strategy for Raoul to take?

A. Open the file attachment and use anti-virus software to scan it.
B. Before opening the attachment, use anti-virus software to scan the system\\'s hard disk.
C. Make back-up copies of important files so that it is possible to recover them in case of an incident.

D. Before opening the attachment, call or send a text or instant message to the individual to verify that he or she meant
to send it.

Correct Answer: D

QUESTION 3

Which of the following is a drawback to using Wired Equivalent Privacy (WEP)?
A. Wireless network overhead is excessive.

B. Symmetric-key encryption is susceptible to cracking.

C. The number of devices that can communicate using WEP is limited.

D. Encryption and decryption speeds are slower compared to other protocols.

Correct Answer: B

QUESTION 4

Since the advent of HTML5, which choice accurately describes a difference between a mobile app and a mobile Web
site?
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A. A mobile Web site is faster because it uses the mobile phone\\'s default browser.
B. A mobile app is faster because it does not necessarily use the browser.

C. A mobile Web site cannot create an immersive experience for users.

D. A mobile app can be used on any operating system.

Correct Answer: B

QUESTION 5

When establishing a mobile presence, which of the following offers mobile-friendly content to the widest possible
audience?

A. Traditional Web sites
B. Mobile Web sites

C. Mobile apps

D. RSS feeds

Correct Answer: B

1D0-610 PDF Dumps 1D0-610 Study Guide 1D0-610 Exam Questions

1D0-610 PDF Dumps | 1D0-610 Study Guide | 1D0-610 Exam Questions 3/3


https://www.geekcert.com/1d0-610.html
https://www.geekcert.com/1d0-610.html
https://www.geekcert.com/1d0-610.html
http://www.tcpdf.org
https://www.geekcert.com/1d0-610.html
https://www.geekcert.com/1d0-610.html
https://www.geekcert.com/1d0-610.html

